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(x,y)   (   x+7 , ­y+10)    1
2

­18≤x≤­6

­2≤x≤4
­6≤y≤4

6≤y≤16
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­10≤x≤2

0≤x≤12
­8≤y≤1

­6≤y≤­3
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3≤x≤6

­5≤x≤1
­9≤y≤­1

0≤y≤8
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 1.   Suppose (12,5) is the point of the graph of f(x), name the image point for each of the following

		

		Mapping Rule

		Image Point



		a. y= 5f(x + 9)-6

		

		



		b. y = f(-3(x-4))+2

		

		



		c. y = -2f(x)+10

		

		



		d.  y = 4f(2x+12)-1

		

		



		e.   y = -3f(
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(x-2))+9 

		

		





2.  Write the equation of the following functions, given the  transformations stated. 


a. y =  f(x) is vertically stretched by a factor of 6, reflected in the y-axis, translated 7 units to the left and translated 4 units downwards.  


      b. y = f(x) is horizontally stretched by a factor of 

[image: image2.wmf]5


1


 , reflected in both the x-axis and the y-axis, 


         translated 11 units up. 


c.   y = f(x) is vertically stretched by a factor of 3, horizontally stretched by a factor of 8 and 

reflected in the x-axis and translated 9 units right 


d. y = f(x) is vertically stretched by a factor of 7, translated 10 units left and 8 units down 
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3. Given the graph of f(x), sketch the

    graph of the following functions, and


    state the domain and range for each: 


a. g(x)= - f(2(x -7))+10

Domain f(x)

Range f(x)

Domain g(x)


Range g(x)
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b. h(x) = 3f(-(x-2)) + 10 


Domain f(x)


Range f(x)


Domain h(x)


Range h(x)
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c. m (x) = - f(-
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(x-7))-1 


Domain f(x)


Range f(x)


Domain m(x)


Range m(x)
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4. Given the graph of   h(x), sketch h-1(x)

    State the domain and range of h-1(x)


    Are there any invariant points


Domain h-1(x)

Range h-1(x)


5.  State The equation of the inverse:


    a.  
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                     c.  
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6.  Given f(x) describe the equation of 

    g(x) as a transformation of f(x)
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